rule 19
Ay A,

Auur

+(HPP, has-instance, 017)
=(C, has-instance, 013)

ule 19

rule 19 \Aa

+(HPP, has-instance, 017)
—(C, has-instance, 013)
+(FE, has-instance, 017)

+(HPP, has-instance, 017)
—(C, has-instance, 013)
+(C, has-instance, 017)

As rule 13

As rule 39

+(HPP, has-instance, 017)
—(C, has-instance, 013)
+(FE, has-instance, 017)
+(C, has-instance, 017)

+(HPP, has-instance, 017)

—(C, has-instance, o13)

+(FE, has-instance, 017)

+(E, has-instance, 017)

+(017, rank, 'foreign-executive’)

+(HPP, has-instance, 017)
—(C, has-instance, 013)
+(C, has-instance, 017)

— (013, sp, 'active.database’)
—(013, sp, 'object_identity’)

rule 13

Ag

|

Aso I rule 52

As rule 40

+(HPP, has-instance, 017)

—(C, has-instance, 013)

+(FE, has-instance, 017)

+(C, has-instance, 017)

+(E, has-instance, 017)

+(017, rank, 'foreign_executive’)

+(HPP, has-instance, 017)

—(C, has-instance, 013)

+(FE, has-instance, 017)

+(E, has-instance, 017)

+(017, rank, 'foreign.executive’)

+(HPP, has-instance, 017)
—(C, has-instance, 013)
+(C, has-instance, 017)
—(013, sp, 'active.database’)
—(013, sp, 'object_identity’)
+(US, has-instance, 017)

{

Ays l rule 49

Ay rule 48

+(DB, constraint-violation, CT2)

violation of CT2

+(HPP, has-instance, 017)
—(C, has-instance, 013)
+(C, has-instance, 017)

— (013, sp, ’active.database’)
—(013, sp, 'object_identity')
+(US, has-instance, 017)
—(HPP, has-instance, 013)

+(HPP, has-instance, 017)

—(C, has-instance, 013)

+(FE, has-instance, 017)

+(C, has-instance, 017)

+(E, has-instance, 017)

+(017, rank, foreign_executive’)

+(DB, constraint-violation, CT1)

valid completion

violation of CT1



